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1. Which would be the synonym for the word

Pallid?

A. Worthless

B. Pale

C. Friendly

D. Comforting

Answer:

O dfa &
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2.Find the antonym for the word Intangible.

A. Concrete

B. Insubstantial

C. Abstract

D. Ethereal

Answer:

O A&

3. Find the correctly spelt word.
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A. Trankquility

B. Trankwility

C. Tranquility

D. Trankwillity

Answer:

O S s &

4. He asked (a)/ that who (b)/ | was .(c)/ No

error (d)
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A A

B.B

C.C

D.D

Answer:

O S &

5. A farmer was leading oxes (a)/ to his field for
ploughing (b)/ early in the morning.(c)/ No

error (d)
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A. calls up

B. calls in

C. calls down

D. calls off

Answer:

O S &

6. Write the synonym of the word DISTINCTION

A. A) Degree
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B. B) Difference

C. C) Diffusion

D. D) Disagreement

Answer:

O da &

7. Which of the options correctly expresses the
meaning of the phrase?

Once in a blue moon
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A. Common

B. Very rarely

C. Ordinary

D. Predictable

Answer:

O S s &

8. In the following question, there are three
statements followed by two conclusions. Read

the Conclusions and decide which of the
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conclusion(s) logically follow(s)
Statements.

Statements:

No peanut is dawn.

Some dawns are cots.

All cylinders are wheels.

Conclusions:

|. Some cots are not peanuts.

Il. All dawns are wheels.

A. have been owning

B. will be owning

C.own

the


https://dl.doubtnut.com/l/_CPRLTvlMZm19

D. No improvement

Answer:

O &

9. Write the synonym of the word CHAGRIN

A. A) Delight

B. B) Caution

C. C) Deceit

D. D) Vexation
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Answer:

O da &

10. The tiger (Panthera tigris) is the largest cat
species, most recongisable for their pattern of
dark vertical stripes on reddish-organge fur
with a lighter underside. The largest wild tiger
ever reported had a total body length of 3.38
m over curves and weighed 388.7 kg. Not only
is tiger a beautiful animal but it is also the

indicator of the (6) (7) means we
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save the forest since tiger cannot live in places
where trees have vanished and in turn secure

food and water for all. it we make sure tigers.

9 . The trees, grass and other plants
that these. (10) forest gets saved !

A. discover

B. prepared

C. discovered

D. responded

Answer:

I 6 r. YW N - - W
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